No. 1 BF 400m BHEFE A A LR
22X
IB:24% 3:53.06
148 & E B R
1. ( )
2. ( )
3. WA F ME (BA#SS y /6 3 5:19.73
4. hE KB (bhdHPSC ) 1 2 5:09.32
5. 5 IE (2 3K%» ) &1 1 4:51.38
6. ( )
1. ( )
24 EIE  RERT
1. ( )
2. A& Bt (SACOT Yy th1 4 4:45.84
3. &k FME  (MYuabdHLz) H1 2 4:38.87
4 1k} BEXE (GZARBKR ) &3 1 4:37.74
5. & ALK (MHabsviz) H1 3 4:38.92
6. 8T 2 (Fy WK% ) 3 5 4:47.33
1. 58 #HE (KA ) @3 6 4:56.76
34 HE] B R
1.R 58 (EEEBHE ) &1 1 4:40.26
2. BEEBAE (KHHSS ) 3 5 4:31.30
3. AR BuE (LAJ'E’L\SC ) &1 3 4:24.78
4. A BH (KoMEes ) =1 1 4:05.19
5. &)1l #Et (b:b\abmsc )y th3 6 4:31.91
6. X 5 (CEARSEK ) &2 4 4:25.16
1. &®fE —% (KHWmss ) &3 2 4:21.99
No. 2 XF 400m BB A LR
2R
IB238% 4:15.47
148 EIE  RERT
1. ( )
2. AR ME (B#SsS )y N6 4 5:19.47
IRA (A BER ) &2 5 5:28.83
4. 52 RAE (KHpWmss )6 3 5:06.83
5. IR iy (KpmsSSs ) fh1 2 4:59.95
6. KA & (avasHL=) /6 1 4:56. 06 KEH
1. NSTEZ=%  (SAGOT )y th3 6 5:48.47

2% &EE R
1. 8H# & (BA#ss YN T 441 TTREH
2. INEF BIFE (WABELz) 3 6 4:45.22
. HA EBE  (hadHLz) &2 3 4:40.29
4. BE DE  (MaBsEL=) 3 5 4:44.15
5. F% EE (KoifEes ) &3 1 4:35.48
6. LLJII £8E (LABWLSC ) $3 2 4:38.28K=#
1. BEREF (bhdHpsSc )l 4 443 12KE%H
No. 3  BF 200m FikF B A LR
X5

IB:24% 2:04. 46
148 EIE BRI
1. ( )
2. ( )
3. B8 W& (47870 )y 2 3 3:14.56
4. FN MR (FyTIWKS ) 1 1 2:54.59
5. RB/INEM (bhdHpsSc ) f2 2 2:55.54
6. I X& (KHWmsSs ) &3 4 3:18.14
1. ( )
2 48 &EIE B
1.8 RBAX (KHHsSsS )/6 6 2:52 44
2. Z@BE/ N (K9EFKH ) 1 3 2:42.71
3. k% HE (KpEFKH ) H3 4 2:44.97
4. iRk #th (XY ZBRBIFF ) 2 1 2:38.09
5. MK B (DKHAHJISC ) h3 2 2:41.69
6. /NFF K (DKHJISC )H2 5 2:50.48
1.=F WE (lWAScC yth2 7 2:52.65
3l EE i3]
1. 18 ZE (GIF#ES ) &3 1 2:43.65
2. HhiERRER:A (1075\&@30 y 82 5 2:40.05
3. HH Bt (KeiEEs ) &1 1 2:27.20
4. FHE E (EAEEE ) &1 4 2:33.48
5. &#f& WA (KHHSSsS ) &2 3 2:29.02
6. #£E ®BWA (KHWHmSS )y =2 2 2:28.35
1. 888 —#& (XYZHIRF ) &2 6 2:40.72




No. 3 BF 200m FikE B A LR
£X
IHER48% 2:04.46
448 EIE  EFRE 24%8 EIE AR
.58 (W‘/xfsfsut) h2 4 2:23. 21 K=# 1. ( )
2. %%k B (KyifEes ) &2 1 2:21.75 2. &% ERXEB (KRHEFhsH $2 4 2:12.30
. =vix & (EEER ) @3 3 2:21.71 . HLE B (RpifEes ) &3 5 2:12.76
4. s EE (KoMEEs ) &1 1 2:16. 18KX=H 4. 31l BB (RaifEes ) &3 1 2:03.51
5. tHE B (xvz%uﬁ )y &1 5 2:23.59 5. AL £th  (SACOT ) b3 2 2:03. 2B
6. RiEF HBFE (kBB ) &3 2 2:21.07 6. &% B— (EARSE®R ) &1 3 2:08.27
7. 2) Bt (hbhdHwsSc ) E1 6 2:26.95 7. ( )
No. 4 &F 200m FkZFE B A LR No. 6 &F 200m 42754 B A LR
2K 2X5
BE4% 2:22.82 IBSE4% 2:12.30
148 &EIE B R 148 &EIE B
1. ( ) 1. ( )
2. ( ) 2.8l EE (hhrHWPSC )6 3 2:28. 38KEH
3. IMNE B (KRPEFHAN ) B2 3 3:25.56 3. BHE Xk (KRoEFhEH 3 4 2:29.49
4. 5 S8 (HFEks ) $2 1 3:06.10 4. 188 DE  (MmadsL) F3 1 2:21. 15KEH
5. =AKEREF (XY ZRBIFF ) /6 2 3:17.56 5. 5k BF (LB ) &3 5 2:34.21
6. ( ) 6. /NEH WE (KHEFHEIHD /M6 2 2:21. 45KEH
1. ( ) 1. h2lBE (3F73K5% ) &3 6 2:40.59
No. 7 BF 200m #EHkE B A LR
X5
B SE8% 2:00. 90
2% HE] B R 148 &EIE B
1. &M ®W¥F (D<#H#JISC ) H3 7 3:0557 1. ( )
2. A% E£EH (KHEFKHS ) &3 4 2:51.65 2. ( )
. R TR (fkEEEW ) @3 3 2:56.66 3. ithis # (Komss ) /N6 3 2:41.69
4 mE FB  (BIFFESRER ) K2 1 2:45.99 4. M HK GGEARE®R ) &3 2 2:24.79
5. ¥ #E (kREW ) &1 2 2:50.45 5. IR B O (KPEFHA ) 1 1 2:19. 2K=#H
6. 5% T (AIFMES ) =1 5 3:00.46 6. ( )
1. B8R #7 (KHoE€FHA ) $3 6 3:00.50 7. ( )
N. 5 BF 200m 2754 A A LR
2X5H
IBSF4% 1:56. 67
148 &EIE B R 2 48 &EIE B
1. ( ) 1. 83 & (SACOT Y3 6 2:18.72
2. ( ) 2. 1% B2 (Mﬂ/x;b;bt\f—) =1 7 2:23.37
3. /NE Fth (4-7ST0 ) B2 3 2:29.04 . HE EZF (KoifEées ) &3 3 2:10.31
4. FILFFHIHE (Ro#EeEs ) &2 1 2:15.21 4. @FHRRLD  (EBEEE ) @3 1 2:01. 39K=#
b. “HELEE (XY ZRIRF ) $2 2 2:21.66 5. H¥ ZE (Roifwes ) &2 2 2:06.29
6. ( ) 6. il H£+ (KoiHES ) =2 4 2:12.93
7. ( ) 7. %80 &M (aF= jc/\ )y 83 5 2:18.08




No. 8 Z&F 200m #EHik&E B A LR
X
IHs28% 2:09.05
148 =HE] B R
1. EEFHRE (KOBG ) &2 1 2:53.62
2. HFRRS (UEXSC ) Bh2 6 2:41.89
3. &H ZEi» (Double.D ) 2 5 2:39.86
4. EW FLE (KRB ) &1 2 2:25.36
5. MR D (RPEFKS ) 52 1 2:24 59KEH
6. AL #HFEX (kIR ) &2 3 2:36.70
1.1k #% (bhdHwsc ) /6 4 2:37.18
No. 9 BF 400m EAAFL— B A LR
2X5
IBE06% 4:14.35
148 &EIE B R
1. ( )
2. T MR (BRESC )y a1 5 5:22.29
3. FE BE (LABWLSC ) &1 2 4:50.26
4 RE T (KoEeEs ) &2 1 4:41.62
5. Al IHE  (fkEEERH ) &2 4 4:58.57
6. FERR—B (GEARE®R ) &2 3 4:54.62
1. B8R Bt (KHE€FHFA ) $3 6 5:26.60
No. 10 &F 400m EAAFL— 21 LRE
X5
IHE0Ek 4:54.24
148 &EIE B R
1. ( )
2. ( )
3. ( )
4. )il 21| E (LAEWLWSC ) 43 1 5:04. 34KEH
5. /hE BE  (RHEFHSH M6 2 5:21.78
6. ( )
7. ( )
No. 11 BEBF 100m HBHHEE B A LR
2X4%H
BEtEx  48.62
148 &EIE B R
1. ( )
2. ( )
3. thifE =M (XY ZHIFF ) /N3 4 1:31.89
4. LA A asEL) M1 1:21.54
5 S $h (WARJISC ) I 3 1:26.87
6. T FK (FyIWK%H ) 1 2 1:25.05
7. ( )

2 %8

.\‘P’.‘-"'PP"!\’.—‘

X H
(1T
B
HAK 8*1‘
E3S x
;ﬁ _H

hE #h

EPN
S
28

3l

N akkwh =

LERBEKER
ZE &
7O
D B
e —=
mAx =
ZINEZN

478

NoalswnNd

TR @i
5% ER
Bl B
Bl 2§
XK¥E HE
R BT
e T

518

hR &
B2 HE
#2R Z&
TB 3L EEIKER
AFF dEK
X% BE
£ R

(XY ZRIFF ) /M
(LLAJSC ) I3
(KPEFHRA ) /M
(by WKL ) /NS
(RAEFKD ) 6

(BA#¥rs s ) 1N6
(XY ZRIFF ) /M
(EA#¥Fs s ) #1
(FScC ) 1IN
(RKPEFKSD ) 115
(EA#¥Fs s ) 16
(SACOT ) 1\6
(FEFXE ) $3
(BA#¥Fs s ) ®1
(KREFKD ) /M6
(Kpamss ) /M4
(XY ZRIFF ) /N6
(LA JSC ) NG
(BA#¥Fs s ) ®1
WgvrE B L) /N6
(RPEFKSD ) 115
(Kamss ) /6
(hhdPSC ) /6
(3F=K53 ) /M6
(3F=K53 ) /M6
(RKAEFKHD ) 15
(RFHEE ) &2
(%S s ) N6

ST

BeF il

:30. 83

:28. 49

:23. 87

:22.96

:24. 51

:27.06

C’J(.ﬂ-h—*l\?m\lmiﬂ:

:24. 40

ST

B

:17.98

:19.49

:16. 69

:19.59

:28. 89

:22. 21

LTICJ)\I-B—*C»)I\DHITJlk

221,11

ST

B

:15.78

17.90

:15. 01

:20. 85

12. 65

:17.48

-hLTI—‘\II\7<hC,~.')]]]TJlk

:15.99

ST

B

:22.42

11.65

:15. 26

13.27

:13. 37

:13.85

@-an.)l\D(.)‘l—*\lmrjlk

:17. 32




No. 11 EBF 10m HHRE A A LR
X5
BE08%k  48.62
6 %0 =[] B ]
1. ®HF #E  (BA#FSS Yy /6 3 1:12.33
2.F®H BEA (KpHmiss ) /M1 1:11.97
.M FiE (#-7ST0 y 3 7 1:15.93
4. FHF AEAt (BFEFEkE ) /M6 2 1:12.28
5. RA = (hhv&Hrwsc ) /b b 1:13.37
6. 8 HiE (IFESEE ) =3 4 1:12.86
1. B KB (hhdHrwsc ) $3 6 1:14.40
7% HLE] B R
.HK 81K (XYZBHRFF )/16 5 1:09.90
2.1 EB#H (MESC y a2 7 1:10.89
3. %M ¥ (KHWmss ) H2 1 1:06.95
4. %F wm O asELz) f2 2 1:07.23
5. %K BK (a+zXK% ) &1 3 1:07.80
6. IR B (MFEEXE ) $3 4 1:09.53
7. Ak ¥ (D<{H&JSC )H2 6 1:10.46
8l SIE  BERS
1./% BZE (aF+7=KHp ) &2 5 1:07.16
2. kK% B& (QF=K%n ) /6 4 1:05.68
.ME B (XYZABIFF ) $2 6 1:07.42
4 1EE BN (FyTJWK%SD ) $3 2 1:05.41
5. INE & (RHEFFRRN ) &1 ZiE
6. B3 FERE (KHEFHFA ) 2 1 1:03.25
1. €7 XK#E (KpE€FXKH ) 1 3 1:05.48
off HLE] B R
1. 588 & GGEARE®R ) 32 6 1:03.97
2.8 2 (Fy WK% ) $F3 3 1:03.25
. BEX (MYvabssnviz) H3 7 1:04.01
4 =ZFEHFBK (KHmiss yh2 1 1:01.97
5. 88 BB (KHEFiFA ) f3 5 1:03.86
6. & EH (hhHrsSc ) F2 2 1:02.87
1. O M (uabssivz) 12 4 1:03.48

10#f

AEA &N
Rk fath
2)1 ZEth
FHE B
R FERE
fBlR =X
MR OEH

NoalswNd

114

ke
v
N7

E2)
BT
R KE
AR BEX
®E HX
'k By

~No ok wN =
o

1248
EX
LS

R ER
B HEAER
=iE W
TH B}
X% 5

EE
K=

NoalswnNd

1 34f
AL
(- -
i 25
%
H
=H
T

NoalswnNd

(RO HEHES )
(XYZRRF )
(hh&Hwsc )
(AFHEE )
GEARE® )
(Fsc )
(aFr=Xym )

(KDEFKD )
(GEARE® )
WrB H L)
(EaEEH
(a+r=Xm
GEARSK
(arz=Xy»

(XY ZRIFF )
(XY ZRBIF )
(KHpWmss )
(AFHEE )
WrEs H L)
(aFrz=Xym )
GEARE®R )

(SACOT )
(KA HHRES )
WrB E L)
(EaEEH
(KA EHE
(KA EHE
(Komss

—_
=
=1
—_
=
=1

)
)
)
)

=1
2
#3
=1
=3
3
2

#3
=2
=1
=1
#3
=3
=3

2
=2
=1
=2
th2
=2
=2

3
=2
#3
=3
=3
=1

=

ST

BeF ]

:00. 67

:00. 96

:00. 22

59. 00

:00. 18

:01.15

\l@l\)—*(»)(ﬂ-hmiﬂ:

:02. 30

ST

B

:00. 42

-00. 41

59. 87

58. 00

:03. 49

58. 66

-hl\)\l—‘C»)Q‘ICJ)]]]TJlk

:00. 17

ST

B
57.82

57.45

56. 90

57.01

57. 36

57.54

O‘|LTIC»»)I\D—*-B\IHITJlt

57.54

ST

B
55.78

55.24

55. 16

50. 68 K= %

52. 1 K=%T

55. 03

@C».)l\)—‘-ht)‘l\l]]]?jlt

55.43




No. 12 %=F 100m HEHR A A LR
2X5

B5csx  57.76
148 EIE B
1. ( )
2. %5 #ls (FSC Y N3 5 1:52.22
3. EA EE  (WadEULz) M 1 1:23.57
4. #T FE  (SACOT Y he 3 1:29.22
5. R 2 (KDEFKD ) N3 2 1:26.95
6. I8 tZT  (FyTWKHS ) /M 4 1:32.33
7. ( )
248 &IE  BFAE
1. 55 #E#M (LLWAJSC Y v 4 1:27.22
2.5 EF  (IuA&JSC Yy N3 5 1:28.27
3. fF:E ME (Kpmiss ) /6 2 1:23.76
4 B #wE (Kpmss ) 1 1 1:19.47
5. F M8 (KoBE% ) &3 6 1:28.98
6. ILA F  (LAJISC Yy M T 1:30.21
7. %@ M (by WK% ) /2 3 1:25.81
348 &IE  BFAE
1. %8 = (BIFESRZE ) 52 4 1:21.21
2. 5M E#HE (KpEFKHS ) /b 6 1:26.73
3. EHIBEREA (XYZHFF ) /M6 2 1:19.01
4 Ik M= (BF ks ) $2 3 1:19.42
5. %F EBEf (AIFESEE ) &2 1 1:18.76
6. X /% (FSC Y th?2 5 1:24.01
1. EHB0A (A#SS ) /INo T 1:27.56
448 = B R
1.4% S$Mm (BFFEkE ) #2 5 1:171.2]
2.k EfFE (XYZHFF )/ 4 1:16.50
. HE ME (EBE#Ss Yy N6 1 1:14.27
4. ik BFRP (KHmss ) F2 3 1:14.51
5. BB & (XYZRBIF ) /M6 2 1:14.43
6. BFEETE (3FIXKH ) F2 6 1:19.17
1. FHEFER (BA¥SS ) I\b K&

#

SH B
e KB
RAFEA
BERE%T
wHE &
REHER

N BFE

~ouoanswrn =0

6 #l

mE BE
A FEH
ER TN
KARER
MR FER
BH TE
HEHNRE

N akkwh =

7 8

e =
By 1B
RT TEE
KE MR
w2
= [ BE

I Ex

Noalswnd

8

1B
wmE D
BHF
&
INEF
#=H
NV

No o s wn =
SRR H
3 of 4o

(byWKS ) N5
(KHEFHRA ) &3
Wvrds B LN ) Bl
(KaEFKHD ) #1
(RKAEFKHD ) 115
(by WK% ) /M
(AFFES=ZE ) =3

(AF=K53 ) /N6
(frESC ) ING
(4-7ST0 ) &2
(KPEFHA ) &2
(RHmss 2
(FEFXE 3
(byTWK%S ) /N6

— — —

(aFIXy
(KHEFHA
(¥rESC
(AF K%y
(XY ZRIRFF
(ES C
(by FWKH

) H2
N6
B
3
th2
2
#3

— N

th2
H1
NG
&3
3
=3

=1

(XY ZBIF )
(KHpmss )
(EA¥¥s s )
(LAEWLSC )
WrBs H L)
(RIFFEEZE )
(KHHss )

ST

BeF ]

:13.35

:16. 57

:13.48

:10. 91

13.23

15. L2K£%

Lﬂ@l\)—*-h\lwmiﬂ:

—_ et [t [ [ | [ —

:15.17

B

:11.29

-10. 61

-hmoamlw

:10. 49

i

N

:10. 34

—_

:10. 23

:10. 46

ST

B

:10. 98

-09. 86

:07. 61

:08.14

:09. 25

:10. 05

-hCJ)C»»)I\D—*Q‘I\IHITJlk

—_ | | [t [ | | —

:09. 56

ST

B

:07.76

-06. 53

:05. 50 K&

:04.75

:04. 61

:05. 69

\l-b—ll\DCas)Q‘lmmrjlk

—_ | [t [t | [ —

:08. 09




No. 12 %=F 100m HEHR B A LGRS

2RX 5
BEegkx  57.76
ofH =[] B ] 4%8 EE i3]
[N S VN G X -1 y &3 7 1:04.33 1. #FfE —=  (SACOT ) IN6 6 52.25
2. BREDH  (EBEWH Y &2 6 1:03.73 2. @& AR (#-7ST0 ) /N5 5 52.17
3. HA EBE  (Mhaddlviz) &2 4 1:01.20 S IEBRAE (hhdHHSC ) /6 T 52. 61
4.3l BE (KomEes ) &1 | 59. 09 K& % 4. iR EX (BF&XkE ) /6 3 49. 95
5. B —ZFE (EBEW ) &3 3 1:00.69 5. —Hh 1&E (bhHWHSC ) /N6 2 48. 50
6. K FFER (XYZRIFF ) =1 2 1:00.46 6. ILA HEA  (vaBELz) M4 51.45
1. B#EBEELRF (hbhdHwsc ) H3 5 1:02. 31 1. B FEXK MasELz) Mo 47.72
No. 13 BF 50m Pk E B A LR
X5
BEREk 2744
148 &EIE B R 548 & E B
1. ( ) 1. &K &E  (rEEL=) /M6 6 49. 84
2. BB Tk uaEHEL=) /M4 1:10.02 2. #E H (KpEFKRn ) /M 4 46. 91
3. W HF REE  (MFEBXRE ) /3 56.19 3. R HEK (Kpmiss ) i £
4. AR RT (XY ZRHIF ) M i) 4. LA K (KRS EFKHD ) /b 2 45. 58
5. IMELEEAER  (MuadEsHULE=) /N3 2 1:03.26 5. R K (BFEiXE ) /6 3 46. 35
6. ANl M (uasELvz) /M3 1:03.64 6. 8B M (3F+IKHm ) /51 44.97
1. #LE = OMaBHLz) M2 5 1:23.49 7. WK BB (XYZRIFF ) /M6 5 48. 00
2% =] B R 6 #H & IE B
1.&%F D&E (bhdbwsc )/ K& 1. gz (LAEWLSC ) /M4 6 48. 81
2. 2E E o MaEELz) M4 57.23 2. 1NBF tHEAN (DK AHJSC ) /M3 45. 02
. R EE (Ksmiss ) 2 2 54.24 3. 8K FEE (#7870 ) /N5 4 45. 95
4 £ A (IUARJISC ) /M 6 1:00.09 4B BFE  (WasELz) 6 S 46. 24
5. @@ ¥ (WWAISC ) /M3 56. 71 5. RE & (KHEFKH ) /M 1 43. 30
6. Xt Bth  (K9EFKH ) /M2 5 57.43 6. %k —3 (XYZRIFF ) /6 2 44. 49
1. AREKRE (HEBXE ) /M 1 49. 08 1. 8% BR (KPWmSS ) M 50. 29
3 HLE] B R 7 8 & E B
1. W —K (hhdbwsc )/ 4 53. 68 1. WK Ex (uKXscC Yy N5 T 46. 49
2. 5 ME (KaEFKHS ) /M 3 51.12 2. %K HE (XYZBRIF ) /6 3 41. 60
. ERIEZN (RAEFHA ) /M 2 50. 93 3. MK HE (bhdHwsc ) $3 4 42.53
4. ;E@A 3E} (LLARISC ) M 47.67 4. R AKX (KHmss ) /6 1 40. 44
5. X8 BT (hyJWK%H ) /5 6 58. 44 5. falx ®HE  (XYZBRIFF ) i1 2 41.38
6. IUA L  (IUAISC ) 54.17 6. aKEZN (LASC ) 1 6 43. 11
1. 851H MR OMAEEWT=) b FE 1. BAR R¥E  (FEBXE ) $3 5 42.85




No. 13 B+ 50m Pk E B A LRI No. 14 % F 50m FkE B A LR
es) £R%
BEREk 2744 B8k 32.79
8#H =[] B ] 148 EE i35
1. L% BE (FyIJWK%HD ) /M6 6 40. 62 1. REHBELKE (FyJWKXKS ) /M 5 1:10.28
2. ¥R HWE  (FEE Xk ) H1 7 40. 86 2. =% £ (XYZBIFF )/ 6 1:11.26
. LFEEZN (XYZRIRF ) H$2 5 40. 28 3. &% BE s dHlviz) /ph2 3 1:02.53
4. )% RIE (KEPESFFA ) 1 1 38. 61 4. B BF (uadHiviz) /2 1 1:00.29
5. £% &+ (byIWKH ) F2 2 39. 41 5. iy €%  tuaseHiL=) 2 2 1:00.78
6. B BE (KHEFKH ) $1 4 40.14 6. KixE HE (aF+3IK% ) /M3 4 1:06.25
1. &8 Rl suasELz) b3 39. 95 1. RBNEZE Hards L) /M K
off =] B R 248 & E B
1LINE & (KPEFHRA ) 51 -4 1. %%k ER (KHHSS ) /3 6 1:05.49
2.5 MR (FyTWKS ) F1 b 38. 39 2. k% /BT (bHhHPSC ) /M1 56. 29
3. = WE (lAXsc ) 12 3 37.20 3./ XHE& (XYZBRIFF ) /2 4 59. 89
4. XA R GEARER )& 2 35. 80 4. hL #ET  (LASC ) /M3 59. 35
5. 72 ¥& (EBRER ) &1 1 34. 81 5. WAV LF  (WASC ) /M 5 1:01.85
6. & K& (KniHeEs ) =1 4 38.26 6. FEEFDOAN (XYZREF ) /N2 2 97. 69
7. AhfE—R (3 FIKD ) &2 6 38. 63 1. BR £# hassl) I3 KI&
10# HE] B R 34l &EIE B
1.0l B (KBS ) @3 5 35.08 1. £ @BFE (XYZRFF ) /4 3 52.99
2. INBF BEK  (DKHJISC ) 2 T 36. 62 2. HfF EB&H (P EXE ) /b 6 54. 11
3. L% HE (KHEFKH ) #3 3 34. 81 . ABERE (BFEXE ) /M 4 53. 11
4. BB BEA  (#-7STO ) &3 2 34.05 4. BR F=iFE (W EL=) b 2 52. 54
5 8 ZEA GIF#AEE ) =3 6 36. 23 5. BT R (MuaBs EULVz) NS 52.19
6. 8K B (DKHJISC ) F3 3 34. 81 6. Bth FZE (byTWKHD ) /M4 5 53. 58
7. Ik K (FEFXks ) 93 1 34.00 7. A& # (XYZBIFF )5 1 54.22
11# HLE] B R 4 %H &EIE B
1. 58 #HE (EEERE ) &3 1 35.29 1. EZBEE (KoEFKH ) M 1 50.18
2. F8E A (EBER ) &1 5 32.16 2.8 #FE (GRESC ) N3 4 48. 98
3.PEE B (XYZRE ) &1 3 31.14 3. F7 2 (RpEeFKy ) M 3 46. 40
4. =9k & (EBEER ) @3 1 29. 95 K& 4. tiEx HE (SACOT ) M1 44. 56
5. i BR (BB ) B3 2 30. 21K 5. it EH&E (XYZBRIFF )5 2 46. 33
6. )il FHth (hhdHwsc ) sl 4 31.23 6. EIRBER (KHMmSS ) /5 5 49.70
7.5 —#B (XYZRIFF ) &2 6 34.37 1. 8Kk #K (uAXscC ) IN5 6 50. 09




No. 14 Z&F 50m FikE B A LR

2RX 5
Bicsx  32.79
5#%H =[] B ] 3#8 EE i3]
1. KA F#&H  MREHL) M6 43.38 1. 56l ME (KK€FKH ) /M3 6 44. 11
2. REHME (FyTWKHD ) /6 4 43. 07 2.thfH =M (XY ZREIF ) /N3 T 49.99
. ERERF (KHEFKH ) #1 3 42.317 3. EE BEK (XYZBRIFF ) /5 2 42.73
4 T BE OMassLz) dt 1 38. 65 4. FERIEZN  (KHEFHFA ) /M 3 43. 43
5. %N EE (FyIWKHS ) H13 5 43. 23 5. KX [ (Fy WK% ) /5 5 44.68
6. 78 XHEER (XY ZBRIFF ) /M4 2 39. 98 K& 6. IMFH FE (HFEFXE ) /b 1 41.65
1.NE & (KRoEFHRA ) $2 7 44. 88 1. E5H 28 (KosFHRN ) M 4 44. 45
6# HLE] B R 4 %H & E B
1. 5% ®Fd (KoEFHA ) $1 6 40.34 1. 8TEA FRE ABBLT=) NS E- 4
2. B ¥&H  (R&ESC ) 1 7 40. 53 2.0 WE (XY ZRBIFF ) /M 4 42.06
. ik B (IFHEE ) &1 3 38.99 3. HmI &E  (LUAJISC ) M4 6 43. 71
4 mE FHR (BIFESEXR ) X2 1 35. 55 K& 4. )I1FH% &L+ (RHOEFHEA ) M 2 40.18
5. 5% RAE (Kpmss ) /6 2 38. 53 5. kH Z=Kk (XYZBRIFF ) /4 3 41.65
6. EXtFEE (GIFMEs ) &2 4 39. 23 6. % WK (KHEFKHD ) /6 5 43.59
1. B8R #7n (KRHoEFHA ) $3 5 39. 48 1. B HE (KHEFKH ) b5 1 39.72
No. 15 B+ 50m N2 T54 B A LGRS
X5
IBE08%  23.66
148 &EIE B R 548 & IE B
1. ( ) 1. 28 #HF (RAEFKS ) /6 6 39. 98
2. ( ) 2. 8% Jtth  (SACOT ) N6 T 40.74
3. kB & (Kpmiss ) /M K .HE B (MasELz) M2 38. 37
4 BAR EH (v TWKS ) /M 2 58. 71 4. AiT B (SACGOT ) M4 38. 81
5. %k BT (by WK% ) M 1 53.07 5. ZHEEARE (K9EFKH ) /M 3 38. 65
6. ( ) 6. B3 FEAL  (#-7STO ) K2 1 37.67
7. ( ) 7. 8@ &L (KHEFK% ) /b 5 39. 31
2% =] B R 6 #H & E B
1.A% 12 (FyJFwWXgy ) /M Ei-) 1. &% BE  PREHL) M6 38.13
2. 8B R&E (KHEFKH ) M2 5 53.25 2.1  HE (KHEFKH ) b 2 36. 81
3. BiE 1Bk (KRHEFKHS ) M3 2 49. 83 3. Ik E#HM (M|ESC ) H2 4 37.21
4 NI BiME (luARJSC ) M1 48. 32 4. 2R {ZE (K% )6 3 36.97
5. luAR #th (LWASC ) NG 4 52.15 5. INBF KBE (XY ZBRIFF ) /M 5 37.46
6. 8 A (LAKJISC ) M 6 59. 37 6. Bl HEA (DKHJISC ) H1 1 36.18
1. Rk BK (byIWKXKH ) &1 3 50. 86 7.0h)I E#H& (XYZBRIFF ) /6 7 39. 01




No. 15 B+ 50m N2 T54 B A LRI
X5

BECE%  23.66
7% &I BFfE
1. L% BE (byIWKXK%HD ) /6 5 34.13
2. 58 1B (XY ZBRBIFF ) /b 6 34. 47
. kit BE (QF=XHy ) /6 3 31.96
4 HBEBARE (BBAX ) K3 1 31.28
5. &F#H #th  (rbsHLNz) F1 2 31.85
6. /NEF BE (aFIKy ) H2 4 32.55
1. K¥ K (RKEEFKH ) /b T 35.59
8 #f =] R Al
1. 2K  (Double.D ) 3 7 34.15
2. kA WA (4-78T0 ) &1 2 30. 77
. ZEHEBK (Kpymiss ) &2 5 31.65
4. FR ®HEX (KRHoEFHAN ) H3 3 30. 80
5. &0 XK (KHE€EFXKyS ) &1 1 30. 50
6. K Bt (SACOT ) Bl 6 31.75
1. Bl BX  asHLz) 3 4 31.44
9#f S E B R
1. BH#H EE  (Double.D ) #3 7 29.76
2. EHEEE (XY ZREFF ) $2 5 28. 9 K& 5
3. B& H (47870 ) &l 2 26.76
4. EFH & (EREE ) &3 1 25. 03 K= #T
5. &% EB— (GEARE®R ) &1 3 26.99
6. F % EBEE (KHpmiss ) &1 4 28. 06
1. ZHE/ N+ (KHEFKH ) #1 6 29. 48 KE£H
No. 16 ZF 50m N2 T54 B A LRI

X5

BECE  27.16
148 &EIE B R
1. ( )
2. 5@ Mek (LLARJISC ) M4 6 53. 81
. IE F¥ (QAFIKHy ) /b 2 48. 36
4. thg F (K@EFRA ) /2 1 47. 61
5. RBHEF (2FzKym ) /M 3 48. 90
6. L BFE (XYZRF ) /M4 5 50. 44
1.7 XEMK (XY ZBIFF ) /2 4 49. 25

2

4

5

~ooswn =9 N e

NoalswnNd

i
A
N
L
R
A
A
#

%2
ZH
M
INE
RIK
23
EH

A

£| M
Hf FR
wE =
RKEVGD
FE8 @ E

#

FR WA
AHHABE
BB =R
wHE &t
fIEELE 2
KB EE
B BB

#8

B 12/
=EHEK
biErg =
BEEFEDOMN
TE HE
Bis< B
F R HTH

(Fy WK% ) /M
(XY ZRIFF ) /13
(LA JSC Y
(XY ZRHRF )3
(#-7ST0 ) N3
(luAksc ) 14

WvrE H LNz ) IS

(kv TWKXKHD
(by WXL
(KREFKH
(2<H#JSC
(RHEFKHD
(RS C

(RS C

) 12
) 1M
) 1M
) H2
) M4
) I3
) N2

(KHHsSss ) @1
(XY ZRIFF ) /N6
Wvas H L= ) IS
(RKAEFKHD ) 115
(3+=Xym ) &1
WtrEs s L=) M
(#-7ST0 ) =1

(KDEFHFA ) /N6
(KHTHSS ) IS
(aA+=zXKyp ) =2
Wvaes B LNz ) 2
(FEFXRE ) #1
(BFEXE ) /6

(byTWKS ) M

|

BeF ]
50. 51

51.85

46. 83

— WO |O1 —

45.78

K&

46.24

48. 52

ST

B
42.55

41.23

40. 23

38. 52

40. 27

42.10

mmw—‘l\?h\lmi*

42. 36

ST

B
39. 80

38. 46

36. 85

36. 36

36. 54

36. 50

O‘|l\)Cas)—‘-h(h\lmTjlt

37.82

ST

B
34.82

36. 31

34. 50

34.93

33.10

36.14

O‘|CJ)—*-BI\D\IC,;)]]]TJlk

35.58




No. 16 Z&F 50m NE2TSA B A LR

X5
Bcsx  27.16
6 %0 &8 B ] 4%8 EE i3]
1. %t FER (XY ZBIFF ) &1 6 34.70 1.3 &l (KHpmss )/ 4 46. 45
2. RAREE (KRHEFHA ) F2 E- 4 2. Wi —K  (hohdHHSC ) /M5 5 47.05
BNl BEE (hh&HwSsScC ) /6 3 31.09K£# 3. &F BEm (hhdHpsSc ) /6 1 43.217
4. 5 IDE AR ELE) B3 1 29. 57T K&H 4. miEE B (KHmss ) M2 43. 39
b K FR (XYZRF )& 2 30. 84 b B MK (XYZRIFF ) /s 3 44. 59
6. Kigf i (KHEEW ) &3 4 31. 37 6. RE +#E (KRaEFHsH M2 1 47.48
7. &M BB (ffESC ) #2 5 34.20 7. EE W O (XYZRIEF ) /N3 6 47.08
No. 17 BF 50m FEikE B A LR
X5
Bicsx  26.01
148 &EIE B R 548 & E B
1. ( ) 1. WgzsH (LAEWLSC ) /M 6 44.79
2. B8 Hth (BF®ks ) /3 6 1:07.88 2. /hA EST (RAEFHhESH /M 1 39.17
3. /N i (uassiz) /M3 1:02.93 3. WK BEBR (XY ZBIFF ) /6 T 45. 06
4. MMREBRER  (MHAEEWL=) 3 1 57.58 4. gyt ¥ (KpWmSS ) /M6 5 43.78
5. Rk BB (HF&%kE ) /6 2 1:01.88 5. IUN AKX (KHEFKH ) /b 4 42.99
6. #f £ ZEH (paBsHLv) 2 4 1:03.61 6. I £ (KHEFHRN ) /M 2 42. 63
1. k#F FE  UasHLz) /M5 1:07.20 1. Bl EFEXRK vrsELNz) M3 42.91
2% HE] B R 6 #H & IE B
1. E¥F FEsk  uasEsuv=) /M T 1:01.12 1. 81F BE (XYZRF ) &1 6 41. 64
2. MK BEX (BFEXE ) /6 1 48.57 2. 8@ &L (RHEFKHS ) b T 42.13
3. R o (RDEFKS ) IM 2 50. 82 3. Arh B (D<{#JSC ) &2 1 36. 11
4 1£% BEA  (ILARISC ) Ih2 4 56. 09 4. )18 RAIE (KSEFFA ) f1 2 36. 70
b. BB RT (XYZREF )/ 6 57.93 5. #% A— (XYZBRIFF ) /6 3 38.19
6. BH R&E (K9EFKH ) /M2 5 56. 34 6. ILA #&Z=  (SACOT ) N6 5 .48
1. AR E#H (FyTWKXKHD ) /M3 52. 80 7. 8B M (2F3IK% ) /5 4 40. 45
3 HLE] B R 7 8 & E B
1. 8Bty (XY ZRIFF ) /N3 5 54. 24 1. 8t Bt (BFEXRE ) /6 ] 38.79
2. kB BK (BF&XkE ) /b 6 54.78 2. &8 FlE uasELVz) S 6 37.417
3. BE B (KHE€FXKye ) /I3 3 48. 60 . K BK (2aF=Xyp ) #H1 4 36. 50
4. 1A =] (#-7STO ) M2 48. 46 4. BB R b EW) 2 2 34. 81
5. BB B (KHEFHFA ) /N3 4 50. 36 5. 70 MM (Wb ) $2 1 33. 87
6. /NI BEME (LA JISC ) M1 47.09 6. i &5 (KoHmSSsS ) /6 3 35.09
7.0 HME MuasELvz) 3 T 55. 64 1. K B (2<HJISC )l b 36. 53




No. 17 BF 50m HikE B A LR
22X
BEEE  26.01

8 #f HE =3 448 EE R R
1. WT #E3E  rEHLr) e 7 34. 48 1. B&MA 2 (R&ESC ) M2 5 46. 49
2. A HEB (KHEFKHD ) F1 6 34.05 2. HEBEE (KHEFKH ) /M 3 45.24
. m  (KREFHA ) F1 3 3151 KEH 3. LH EE  (MuabHLvz) /M 4 45. 71
4. WFHRRD  (EBEER ) &3 1 26. 25 KE# 4. R Bk (RHEFKH ) M 42.94
5. AF Lt (KoifHeEs ) &2 2 271. 5 KEH 5.t HZFE  (SACOT ) M T 50. 85
6. B2 LK (asHLz) F1 4 32. 67 6. BE =Rk (GIFENZE ) &2 2 43.17
1. %% Z2& (#PaBHLz) /b 5 34.00 1. 5H EE  (lUAJdSC ) N3 6 49. 20

No. 18 *xF 50m FEikE B A LR

22X
R 29.17

148 & IE R Al 5#f &EIE =S|
1. ( ) 1. BfHTH  (FyTWKS ) /M1 40. 00
2. ( ) 2. @F%KES (UKXSC ) N5 6 42. 86
S EE & (XYZHRF )/ 2 1:0811 Bl EH  (vas s ) /3 3 41.04
4 RO HF (bbhrdHpSc ) /h2 1 1:02.42 4. B8 KRB (KHEFHA ) $3 2 40. 89
5. RANEER (iadssiviz) /M 4 1:15.15 5. tiffl /hEZE (BRESC ) B2 5 41. 66
6. 5% BEE  (XYZARF )/ 3 1:10.16 6. XBEEHLF (hhHHSC ) /b T 42.87
7. ( ) 1. BEHBER (tyIWKXKS ) M 4 41. 45
248 S E R Al 6%l &EIE =S|
1.#WAX HFE (Fy7WKS ) /M 6 59. 43 1. %k BEF (KH@mss ) /M6 1 40. 23
2. il EE asELz) 2 5 56. 88 2. RV &Y  (RHEFKS ) /b 4 36.12
3. FEEFOMN (XYZRIFF )2 4 56. 22 3. KEAFEKE (KoL ) B2 5 36.29
4. B3 EBF OB sLz) b2 ] 99. 46 4. BBELLD  (XYZRIEF ) /6 1 35. 00
5. ZHETH  (LUAJSC ) M2 94.10 5. @FHDLE (RESC ) 2 2 35. 26
6. FR H (KAEFHA ) 2 1 51.08 6. ABEREE (BFEXE ) $2 3 36. 07
7. N 122 (luAJISC ) M3 3 56. 02 1. RAFET  (asHL ) $1 6 39.19
348 S E R Al 7% &EIE =S|
LB OBE OB EWLT) 2 T 53.73 1. 8% =0 (Double.D ) 2 4 34.33
CEFEXRE (RESC ) M3 49.90 2. HFERES (LWAKSC ) B2 5 34.62
CABERE (BFEXE ) /M D 51.09 3. M =in (RIFFEEEXR ) K2 3 32.05
CHIE TEM (KHHSS ) /e 44.90 4. &£F FE (GIFESHEX ) X1 _1 29. AKX
CEFEERXS (LUARSC ) N3 2 48. 90 5. KA F&K (W#asHLz) 6 2 31. 95 KEH
kB & (4-ISTO ) IN3 6 53.25 6. AR @M (Kpmss ) &l ] 36.18
AR # (XY ZBIFF ) /NS 4 50. 62 1.3RT fexE (AR&ESC ) 1 6 35.07




No. 19 BF 200m EAAKL— B A LGRS
X5

IB524% 1:58.12
14 EIE  BERE
1. ( )
2. ( )
3. B M (XYZRRE ) /3 2 3:42.08
4. KB FK (XYZRIEF ) /M K&
5. @ KKE (XYZRIR ) /4 1 3:33.22
6. ( )
7. ( )
248 515 BERS
1. WA A AEE L) /M T 3:25.32
2. Al K (WA dsi) M4 3:11.67
3. HE B (i H=) /M 3 3:09.63
4. INE O KBE (XY ZRIFF ) /M 2 3:03.73
5. ZEEAE (KH9E&EFXKHD ) /M 5 3:12.08
6. Af HZ (KHPEFKHD ) /M5 6 3:13.98
1. &5 B2 asELz) M1 3:02.82
3 HE] B R
L& ZE  (LA&JSC Yy T 3:13.83
2. 1IN (BN (D<HAHJSC )/ 5 3:01.15
3. B BA (Kpmiss ) /4 3 2:54.19
4 t% BE (FyIWK%H ) /6 2 2:49.43
5. #E% WFE (MEBXE ) 1 4 2:55.14
6. 2 KB (bhhHwsSc )l 1 2:43.78
1. 8 ME (KHoEFKH ) /M5 6 3:03.09
448 HLE] B R
1. 1&E8E R rEH V=) /b 6 2:46.30
2. BB 1&BE (XY ZRBIRF ) /5 5 2:45.49
. HEH #HE  (EBEW ) &3 2 2:35.97
4. IUT #RFE  OurEsEL=) 6 3 2:37.34
5. % Z8& (WaasEL=) b 4 231 M4REH
6. THE K (MEEXE ) $3 1 2:33.98
1. 88 BB (KHE£FHWN ) $3 7 2:49.49

54 &EE R R
1.&0 KB (KHE€EFKH ) &1 1 2:35.74
2.8 Bt (KHEFHFA ) 3 5 2:31.50
. RER—B (EAREK ) &2 2 2:19.10
4. #HE #BH (XYZRREF ) &1 1 2:17.15
5. AL AR (ERERE Y &2 4 2:28.85
6. EBERA (bhhdwsc ) 2 3 2:22.71
1.MT #MR (RESC Y Rl 6 2:32.44
6 # EIE BRI
1. #LE BWA (KH#HSS )32 1 2:171.29
2.8 T (MtadsLiz) $2 5 2:13.92
3.IA EA  (KpHEEs ) &3 2 2:01.11TK=#H
4. N8 X% (BIFHEE ) &2 1 2:07.06
5. il BE (KyifEES ) &1 3 2:10.59
6. KR8 E (KoifEeEs ) 52 4 2:10.68
1. X $HE (RoifEeEs ) &2 6 2:13.99
No. 20 ZF 200m fAAARL—  &ALRE
£X

IB534% 2:18.06
14 EIE RS
1. ( )
2. % EHA (XYZRREF ) /M3 5 4:01.90
. B E  (KHEFKH ) /M 2 3:11.72
4. B =W (uasHLviz) /M3 1 3:09.40
5. tH 2T (uasEviz) /M 4 3:27.09
6. HEZEYE (KHoEFXH ) /M 3 3:23.22
1. ( )
24 EIE BRI
1. mE =P (KHHSS ) &2 7 3:06.51
2. KEH #E$ (Mtasslviz) /M 2 2:55.98
3. ftHpIA  (FyTWKH ) /M 6 3:02.48
4 FEH ¥F%F (KpEFFFR ) 51 1 2:52.10
5. MH HTfE (K9EFK%H ) /5 4 2:58.56
6. AEBABRE (XY ZRBIFF ) /6 3 2:57.58
7. KEH FEE (I4irbsHLiz) /M 5 3:01.84




No. 20 &ZF 200m EAARKL— B A LGRS
X5
IB:24% 2:18.06
3#H =[] B ] 3#8 EE i3]
1. B ®&H (ESC ) (a1 7 3:03.63 1. 588 &&E GEARE®R ) &2 6 2:23.49
2. ZEHEKR (KHHss ) /5 5 2:52.79 2. B3 BB (KHEFHEAR ) f2 7 2:24.18
3. bt fER (XY ZRIFF ) &1 4 2:52.10 3. &1 2 (by7WKXKH ) &3 5 2:21.47
4 \MFEHRDLET (GRESC Yy 2 2 2:43.66 4 % NE i sLvE) Bl 1 2:10.12
5. BBREF (bhdHwsc ) sl 1 2:37.71 5.8 XK (uassviz) il 3 2:17.61
6. %A W (MESC Yy N5 3 2:46.95 6. A& Bt  (SACOT )y a1 2 2:14.32
1. MEVELY (KPEFK5 ) /M5 6 2:53.54 1. BEBREBAREE (BBAX ) K3 4 2:21.32
448 HLE] B R 4 %H & E B
1.5 BWF (D<HJISC )3 7 2:40.65 1. % FI3} (KH€FKy ) $3 1 2:14.20
228 F2 (LABLSC ) H3 4 2:31.59 2.F8E B (GIF#Es ) &1 4 2:09.33
3. MR DB (KHEFKSD ) 2 2 2:26.8A=# 3. 2Nl Eth (hhdHScC ) F3 5 2:09.53
4. K BER (XYZRIF ) &1 3 2:27.43 4. Bk EE (XYZRIFF )2 1 2:04.32
5.1l £mE (LAEWLSC ) #$3 1 2:26.00 5. H HK EAREK ) &3 3 2:05.50
6. il =3x  (BIFEIEX ) K2 5 2:33.27 6. W EFE  (SACOT ) 513 2 2:05.40
1. 8% & (B¥SsS Y6 6 2:37.95 1.0/ B (GEARE®R ) &2 6 2:11.49
No. 21 EBF 200m HHR A A LR
X5
IBS34% 1:47.38
148 &EIE B R 548 & IE B
1. ( ) 1. X% sn GEARGE®R ) &2 6 2:05.00
2. RE FH (KHpEFKH ) /6 3 2:43.55 2. K BX  (EBEEE ) &3 5 1:59.74
3. MA B (MEEXE ) $3 1 2:32.37 3.3l B (KyifHES ) &3 1 1:54.68
4. B BAN (KHWSS )/ 2 2:33. 20K=# 4. B EH (RHEHE ).‘%‘1 3 1:57.01
5. k% Bt (EA¥FS S Y6 5 2:45.36 5. Bft F* (xﬁmiﬁﬁfam ) &2 2 1:56.79
6. A FE (KHEFKHD ) F1 4 2:45.32 6. ik B2 (RKpilEES ) &2 4 1:57.26
7. ( ) 1. BEBAE (K5 \ﬁiss y 83 7 2:07.07
No. 22 HF 200m HBHHEF B A LR
22X
IB524% 2:00. 96
2% HLE] B R 148 & E B
1. RO =% (hhdHPSC ) /b 5 2:36.47 1. 8F #8% (KoBs Yy &3 7 3:26.82
2. /ME EN (RPEFHSH M 4 2:35. 26K=HT 2. %M #% (FyJWKS ) /b5 5 2:42.30
3. ME KB (KHEFKHD ) 1 1 2:21.05 .1k & (hhdHSC ) /6 1 2:28.69
4. #H 2 (KpWmss ) H2 2 2:26.43 4. REHBHE (FyITWKS ) /6 2 2:31.64
5. mF ME  (BEA#%SS ) IJ\6 6 2:37.18 5. % F7m (#-78T0 ) &2 3 2:36.37
6. & myE (RIFESEE ) 53 7 2:39.92 6. HIE #MEX (B#SsS ) /M6 4 2:40.00
1. 1HE KB (hhHpsc ) q:1 3 2:28.20 1. Ik MmE (BFBEXE ) $2 6 2:54.38




No. 22 *xF 200m BB B A LGRS
2RX 5

IE:24% 2:00. 96
248 ] B R
1LIRA #  (EEEE ) B2 6 2:33.46
2. X% AE GIFgEs ) &1 4 2:171.60
. EfE (KyoEeEs ) &3 2 2:10.87
4. 351l FE (KoMgeEs ) &1 1 2:06. 6 K=HT
5 #8 EEB (Mﬂjxiﬁab\f ) &2 EiE
6. /NP BUTE (WMUaBELz) H3 3 2:17.02
7. 8% XxFE (XYZHRF ) &2 5 2:29.30
No. 23 BF 100m FikE B A LR

X5

RECEE  58.30
148 & IE B R
1. ( )
2. ( )
3. FM K#E (XYZRIF ) /M2 1:51.02
4. ;E@A 3E} (LLAISC Y /M1 1:41.89
5. Bl EE (KpHpHsSSs ) /2 3 1:56.22
6. ( )
7. ( )
2% = R Al
1. XK &E (WrEEL =) /6 5 1:47.176
2. 58 28 (KpsFWFR ) /M 6 1:48.20
3. INEF tHEAN  (DKHJISC )/ 2 1:31.50
4 Rk EKXK (Kpmss ) &l ZE
5. BfpT H¥ (MEBXE ) $3 1 1:32.26
6. % —3 (XYZRIFF ) /6 3 1:39.92
7. WA AKX (KHEFK% ) /5 4 1:40.36
3 HLE] B R
1. 8K [EE  (#-7ST0 ) /N5 b 1:37.47
2. aKEZzHN (LWAXScC )y i1 6 1:37.87
3.; I K& (KHmiss ) H3 4 1:31.61
4. KX HE (bhdHpsc ) $h3 3 1:31.21
5. & HE (bhrdHpSC ) /M6 1 1:25 67
6. EFEEZN (XYZBIFF ) &2 2 1:28.83
7.luLx BEx (LWASC ) N5 7 1:38.03

5

5

ﬂ@QPWN# sww»ww~ s@w%wwe“

NoalswnNd

#

=1
Fo] W%
JILJII
&
XA
PR
Y-

biie
KiE
R
N
1A
AX
-

A

- RABNEM
=F HEE
INFF OBEK
t%H HE
BE B
iz ®A&

E 'BX

#8

K HZ
21 Hth
HiE BR
=yl &
Mg EE
8 Bt
=X Ih

(4-7ST0

(hhdHrpsC

(FJ?WX
(Ko i#EwmE
(iﬂ%m&
(Komss

PA )

(s C

(luxsc

(D<HJISC

(RAEFKH
(XY ZRIFF
(EREEm

WA EB E L=

RIFAES

(D<HJISC

(& 1a#sY

(ROHHES

(KpWss
(=N
(XY ZRIFF

(RO WE

(b#&@sc

(& 1a#sY
(& 1a#sY

(RO WA S
(RO WA S

— N N S N — N N N S

— N S

WtrBs E L)

th2
3
H
=
=)
Ih6
th2

th2
H2
#2
#3
#2
=1

th3

=3
#3
=1
=2
=2
=3

th?

=2
=1
=3

=)
)
)
) =
)
)

=3

=)
=)
=

2

ST

BF ]

:29. 67

:23.03

:25.07

:21.15

:18.93

:24.76

@-h—‘l\?mw\lmiﬂ:

—_ e [ [ [ | [ —

:27. 88

ST

B

:22.16

:20.79

:18.22

:16. 33

17.83

:16. 49

LTII\DC»»)—‘-B(h\l]]]Tjlt

—_ | |t [t [ [ |

:20. 40

ST

B

:19. 44

-15.04

11,24

:08. 47

:10.24

:14.07

-hLTII\D—‘C»)Ch\l]]]TJlk

—_ | | [t [ | | —

:13.95

ST

B

:06. 83

-06. 49

:04. 96

:05.22

:05. 23

:05. 28

\l-b&.)l\)—‘t)‘l@ﬁj‘k

—_ | [t [ | [ —

:08. 14




No. 24 Z&F 100m FpkFE B A LR
X5

IBS74% 1:08.05
148 &5IE  BEAE
1./ = (UAXSC ) /M T 2:05.63
2. &K #K (LWAXSscC Yy N5 5 1:48.99
3. Mg FE  (AIFEHREER ) &3 3 1:39.00
4 ERAREHE s EL =) k1 1 1:24.65
5. INE B (KPE®FFA ) 52 2 1:37.06
6. FA HE (KDEFKHD ) /M4 4 1:45.29
1. BR FTE (WMassELviz) /b 6 1:50.80
248 EIE  EFRE
1.8 XE:BH (XYZBIFF )/ 5 1:29.07K=#
2.%H7 =B (aFrzXyD ) H2 6 1:32.12
. BR #1 (KHEFMA ) $F3 3 1:27.38
4 EXREE (GIF#ES ) S2 2 1:25.54
5. lft E=H (KHEFXKHD ) &3 1 1:23.68
6. T #BE Utrabssviz) 1 4 1:27.89
7. E@EIERE (XY ZRIRF ) /6 7 1:33.89
348 EIE  EFRE
1.9% $8 (BFEXkE ) $2 1 1:24.51
2. R F=HR  (fkEEEW ) @3 6 1:24.16
3. B RAE (Kpmiss )6 2 1:22.26
4. EFH #FE  (EBEm ) &1 1 1:20.97
5 & F5 (LAEWLWSC ) @3 3 1:23.17
6. 5% T GIFHMES ) &1 5 1:24.13
1. XE MK (3F+3IK5H ) $3 4 1:23.42
No. 25 BF 100m /2754 B A LRI

X5

IBE08%  53.32
148 &EIE B R
1. ( )
2. ( )
3. luAx #th (LASC Yy 75 3 2:01.39
4. %k WK (KHEFKH ) /6 1 1:32.29
5. X% #E (IF#ES ) &2 2 1:34.09
6. ( )
7. ( )

2

3

5

NoalswNd

1
2
3
4.
5
6
7

~ouomwrn =B

NoalswnNd

#8

B’ OHE
Bl MEA
INE RS
INE O FOth
2N
NE Rz
AF YK

#

- BE &t
- RE ER
EfR RENE
mAR K=
FRR—AD
. ZHE/ N
AR KX

A

AR BEX
EH=AHE
& AR
=& —#
TH MK
== A -
PANITES SR

#H

L3P N
FE
INEF
AL
Al

ERL

SRk
i
i
B
1

(KDEFKD ) IS
(DKHJISC ) Hi
(RAEFHEH /M
(#-7STO ) &2
(Double.D ) =3
(RAEFHA ) &1
(RDEFKD ) IS

MgvrE B L)
(hhdPscC )
GEARE®R )
(XY ZRIF )
GEARE®R )
(RAEFKS )
(RAEFHAN )

ol
2
=3
=2
=2
ol
3

(aFrz=Xym )
(XY ZRBIF )
(KpEFHEH
(KRpmss )
(KRpmss )
(Kom&Ermr )
(RO HEHES )

th3
th?
)

—_

=2

oot
N

(R ES
(R HES
(RIFFFAF S
(SACOT

(RO HEHES
(& 1B%Esw
(ZARB&R

=1
=3
=2
#3
=3
=3

=1

— N N N S

ST

BeF ]

:24. 16

:22.73

:20.05

-06.18

:21.07

19.17

Mwm—*-hm\lmiﬂ:

—_ e [ [ [ | [ —

:19. 08

ST

B

:13.19

-06. 31

-06. 45

:00. 21

:01.75

:04. 26

CJ)C;QI\D—‘Q‘I-B\lmrjlk

—_ | |t [t [ [ |

:07.08

EIE

B
FE

01. 42K£%0

:00.92

59. STK=#

:00. 84

58. 82

Gl = W IN A~

:01. 38

ST

B

:00. 71

59.77

58.18

56. 53K =#

56. B0 XK= #T

58. 58

Cﬂhl\)—‘wm\lml*

58.79




No. 26 ZF 100m /2754 B A LR

2K
B s28% 1:00.00
14 &8 =3 3#H EE i3]
1. ( ) 1. B3 &£+ (RaMEEs ) =2 3 1:02.49
2. KiEUOHD (D<KHJISC )2 4 1:30.28 2.0 BE (A EL) 51 7 1:05.72
3. B8HF & (BE#ss )y /h6 2 1:12.53 3.8 &M (aFIXK%H ) g3 2 1:01.76
4 RAREE (KHaEFHRN ) H2 EiE 4. |FHERLD  (EBEEH ) &3 5 1:03.05
5. IhMBIE (3+=XKyey ) &3 1 1:11.26 5. HE BEZF (KoifEées ) &3 1 1:00.44
6. At fEF (XY ZHIF ) &1 3 1:20.13 6. 8FHEXB GIFHEE ) =52 4 1:02.60
7. ( ) 7. AR B O (KPEFHA ) 1 6 1:0437TK=#
No. 28 ZF 100m #EikE B A LR
22X

HsE8% 1:01.29
248 &IE  BFAE 148 &EIE =S|
1. EHEXE (KoHHEes ) &3 6 1:10.41 1. HWmEK #ZE (byIWXKHD )/ T 1:45.80
2. ®RE Etk (KpEFHEHD $3 5 1:10.08 2. BHHEE (2FIXKH ) $2 5 1:28.25
B BEE (hhdHwsc )6 3 1:07.63K=H 3. EEiFHET (KHEBL ) E2 1 1:19.71
4 ik BF (ERBEBRH ) &3 2 1:07.24 A ABEREBE (BFEXks ) $2 2 1:19.84
5. #8 BE  (nabdniz) &2 1 1:06.04 5. AR #Emk  (KHmiss ) #F2 3 1:20.99
6. /N WE  (KPEFHESH /M6 4 1:08. 3K=H 6. 5% ®HF (KOE€FHA ) &1 4 1:24 87
1. 28 ®h (AFEHEER ) &3 7 1:13.55 7. %8 #¥ (FyJWK%HD ) /M5 6 1:29.93

No. 27 EBF 100m HEHikE B A LR
2K
BEcEx  54.46
148 EIE B 248 &EIE =S|
1. ( ) 1. 8B&<5  (XYZRHIF ) /16 7 1:16.93
2. H FE (FEEXE ) /b 5 1:35.75 2. 5l FE  (fkEEERH ) =2 4 1:13.91
. HF HZ2 (KHEFKH ) /b5 2 1:26.95 3. KA FHi&  (WadsEL=) 6 3 1:09. 83 KE=H
4. H¥ AN— (XY ZHEF ) /M6 1 1:23.34 4. £&F E  (BIFFESEXR ) K1 1 1:03.82
5. 2@ &L  (KHEFKHS ) /b 3 1:27.40 5. B %LFE (EEEBW ) &1 2 1:06.44
6. ik XM (KHmss ) /4 4 1:3536 6. HFXRS (LUAXSC ) 2 6 1:14.90
1. ( ) 7. 8#F =i (Double.D Y 2 5 1:14.62
No. 29 BF 50m B/ B A LR
22X

BEtex 22.17
248 EIE B 148 &EIE =S|
1. K #H¥% (D{HJISC ) HI EiE 1. ( )
2. /INE ORIt (4-7STO ) &2 3 1:10.57 2. ( )
MR R (aF=IXKHS ) H3 4 1:156.02 . kHF FE=  (MHassLriz) /M 3 1:05.59
4 #E @MA (KHmss ) E2 1 1:04.94 4 FE E&H  OassLiz) 2 1 94.51
5. FEBRA  (hhdHrsc ) F2 2 1:08.75 5 Al it s ELz) M2 57.45
6. IUT #E#E  (M4vadsHLvz) /6 5 1:156.39 6. ( )
1.5k 1&BE (XY ZRIEF ) /N5 6 1:17.92 7. ( )




No. 29 BF 50m B B A LGRS
2K
BEek 2217

248 EIE  BERE
1. ( )

2.% DE  (bh®HSC ) S 56. 90
. R BB (HMFEXE ) /6 1 52.176
4 %%k 2 (MrEHLVz) 2 3 55. 06
5. E¥ Ik  (MHrbsHLz) M2 53.19
6. 2 R7F (XYZRRFF ) /M 4 56.19
7. Bf itk (BFEXkE ) /3 6 57.72
348 515 BERS
1. R BZE (FyIWKSH ) /M 2 46. 38
2. A% Bt (ReEFKHE ) M2 1T 49. 28
3. &% HEA  (ILAJISC ) N2 1 45.59
4 MR KRER (W ELz) N3 4 47.08
5. k@ &8 (Kamss ) /4 b 48. 04
6. BH R&E (K9EFKH ) /M2 6 49. 09
1. BB #E OB HL=z) M3 46. 45
448 HE] B R
1. &B& B (RDEFKS ) M 2 46. 21
2.l =M (#-78T0 ) M4 47. 41
3. A MR (MYuaBsHLz) N3 6 48.58
4. A%y = (FyTWKH ) M1 39.05
5. 8K BEZE  (SACOT ) N2 3 46.73
6. BEV-IVEY  (XYZRIFF ) /M3 5 47. 49
1. #T & (SACOT YA 52. 42
5#f EIE  BERS
1. BB 5 (ky7WXsy ) &1 1 40. 55
2. F R EE (Kkepmiss ) 2 T 46. 64
3. &% kA (IUAKRJISC ) 74 5 44. 44
4. BE +#E (KasFhsH M2 4 43.57
5 BE 18Rk (K9E&EFKH ) /M 3 43.25
6. 5 ME (K9EFKH ) /M 2 42. 45
1. 88 EBiZ (KHEFHRN ) /3 6 44. 85

6 #A

NoalswNd

1Bk
A
&l
-
e
S
[Z¥N

BA
Mt
&+
£
1w
R HE
4]

78

N akkwh =

Pl R
NI B
A REKER
—h KE
1 R R K ER
hite Bk
ik =3

8

1.

~o oA wN

EH
LA

P
S
mEr FEiE
TF BtH
HE B
W &2
=

HE
mAK #EX
AR A
B8
AK 1B
£ HEEKREA
Wi —xK

(BMREXkE
(luxsc
(Kpmss

(byTWKXKHD

(MEFXkE
(XY ZRIRF

PA )

(XY ZBIFF
(1LAJSC
(FrEFXE

(b s C
(b s C

(XY ZRIRF
(Rnmss

(LLAJSC
(LLAJSC
(#-78T0

(hhdpsC
(RAEFKRD

(SACOT
(ILAJSC

) 115
) 11D
) 1M
) INb
) N3
) 1M
) 1M

) N3
) 1M
) 1M
) /N6
) /N6
) I3
) /M4

) M4
) N3
) /b
) I\6
) 1M
) 1\6
) M4

(RAEFKRD ) N3

(BMFEIXE

) /N6

WrEE =) M

(EB¥rSs s

) 11\6

WrEE =) IN6
(RHEFKD ) M
(b S C ) /b

ST

BeF ]
45. 95

44.27

38.72

44. 53

40. 93

42.73

-hool\am—am\lmi}t

44. 26

ST

B
41.68

41.48

40. 17

42.78

41.85

42. 25

M@O‘I\l—*whmi*

40.19

ST

B
42.08

39. 71

42. 11

37. 11

37.55

34.74

Cﬂ—LOOM\I-Bmml*

41. 47

ST

B
41.33

39.15

39.03

38. 54

39. 64

37.75

@—LLHMOO-B\IME*

39.72




NoalswNd

N akkwh =

NoalswnNd

No. 29 EBF 50m HRF B A LR
2X5
BEek 2217
1048 EIE B
1. 188 XK (XY ZRF NG 2 38. 45
2. 58 28 (KoEFEA ) M 5 38.98
3. BIA FIR  WaBEL=) b EiE
4 hE ¥ (XY ZHIAF N3 38.68
5. AKX B (FyTWKH ) /M5 6 39.08
6. Il £LX (KHEFHEFA ) M 1 36. 91
1. K BEBR (XY Z3IAF N 38.93
114 EIE  BRRE
1. WL ;XK s HLviz) M2 35. 83
2. EMEEABE  (B3#FS S 1 35. 42
3. Bk HEIK (Kpmiss == £iE
4. FE REHF (KRHEFKS ) /M 3 36. 51
5. X EX (LUAXSC ING 6 37. 41
6. ZJIIlEZzH (EA¥FSS h1 4 36. 74
1. 8K kB (4-78T0 NG 5 37.06
124 &IE  BFAE
1. BA XiE (BFEXE NG 6 36. 74
2. 18 HE (KHEFKH ) hd 1 35.01
3. @ (- (E¥SS NG 17 36. 82
4. lWNEz5H (LAEWLSC ) /M 4 35.92
5. R &FF (KRHEFKH ) 6 3 35. 81
6. BE B (WabHLz) M D 35.99
1. BAx E (FEFXRE Hh3 2 35.08
1348 &IE  BFAE
1.5 BR (KH/WmSS I\ 36. 56
2. &8 —3 (XY ZHIAF N6 1 34.20
3. &ZfE RE (FScC I b 36. 28
4. AT BE  (SACOT N 4 35. 86
5. k% B2 A EL=) M3 35.02
6. 2@ M (3 FIXH NG 2 34.58
1.8 BE  (MYuassHLriz) e 6 36. 35

NoalswnNd

1448

BR
INEF B
#2R Z&
tEEZN
Bl B
HH -
fiE HE

1548

RO =%
Rl
Ik K&
EE s
TB 3L EEIKER
XFE HE
1EBE Fi

1 648

mRK B
HH {2 — B
B AEE
XE £+
L% #E
NI FE
£ I )

1748

EH Kt
£ NI VN
BE B
(IS
%%

‘B =
B &

(SACOT ) 1\6
(XY ZRIFF ) /M
(3F=K53 ) /M6
(XY ZRIF ) &2
(XY ZAIFF ) /16
(XY ZAIFF ) 16
(XY ZRIF ) &1

(hHhHPSC ) b
(KHHSS ) /6
(KHHss ) /3
(#-7ST0 ) ®2
(3F=K53 ) /M6
(B#¥Fs s ) ®1
WuaEB ELV=) 1M

(XY ZRIFF ) /N6
(a+r=Kyn ) =2
(4-7ST0 ) K2
(by WK% ) t2
(byTWXS ) /N6
(4#-7ST0 ) ®3
(BFEXE ) /6

Wvas B LAz ) Bl
(a+=zXKym ) &1
(XY ZRIF ) &2
(#ESC ) &1
WuaB HLVz) &2
WuaEB ELV=) 1M
(KHHSSsS ) &2

ST

BeF ]
35. 28

34.07

33. 68

32.72

33. 41

33. 17

-hl\bw—*m@\lmiﬂ:

33. 60

ST

B
32. 81

31. 80

33. 26

33. 37

33.23

33. 58

Cn.)\l-h(»Q‘l—*I\DHITJlk

33.15

ST

B
31. 80

31.09

33. 54

33.10

32. 31

32.16

O‘|Cn.)-h(b\l-*l\)ulrjlk

32.35

ST

B
30. 67

30. 71

31. 27

30. 04

30.14

30.79

@LTII\D—‘\I-BC,;’]]]TJlk

31.00




No. 29 EBF 50m BMHF B A LR
2K
Biogkx  22.17
184 G RFFE
1. =% WE (uUXscC ) B2 5 29. 91
2. A HREBE (KHE€EFKHD ) 1 3 29. 87
3. INE % (KZEFRA ) &1 _1 29. 64
4 7E &E GARSKR )52 4 29. 89
5. #A0L K (KHEFKH ) H1 6 29. 95
6. ki BE (3Fz=XKH ) /6 2 29.79
1. N BE (aF=XKyHp ) 2 7 30. 36
194 =] R Al
1. B WA  ($-7ST0 ) 1 7 29. 47
2. 88 #BR (KHEFHA ) $3 4 29.20
.Ml R (2AF=IKHy ) H3 6 29.34
4. &8 K (B HLVz) BT 3 29. 04
5. ik fath (XY ZRHIFF ) &2 1 28.30
6. ¥ HWE (QFzXKymy ) &1 2 28.42
1 1ER BN (ryIWXK%H ) &3 4 29. 20
20#8 EIE B
1. &% M2 OhaasHL) &1 1 21. 36 K=H
2.0 finM asELz) F12 5 28.57
. ZEHEBK (Kpmss ) &2 1 28.83
4. 2)1| Fth (bhdHPSC ) H:3 3 28. 21
5. A BF (KHEBK ) &3 2 28.19
6. Bl EBEX (WasHLz) F3 4 28. 37
1. Bi HERB (KOE€FFERN ) $2 6 28.76
2 1% &IE  BFAE
1. ZHRE/ N+ (RH9EFKH ) 1 3 21. 2KEH
2. FH BE4E  (Double.D ) 3 5 27.92
.MMA E#®H (aF=KHy ) 2 6 28.20
4. tth 3 GEARER ) &2 1 27.09
5. % FI} (RHEFKH ) $3 4 27.80
6. Bl ZEF (SACOT ) #3 2 27.70
1. N &  (Ka#EEES ) &1 ] 28.30

224 EIE  BERE
1.8lF KX (FSC ) 3 4 26.76
2. 8RR BXK (2F= x’\ ) 3 5 27.06
3. K ER (RoifEes ) &1 1 27.43
4 FH B} (@QOFIKH ) E2 2 26. 22
5 & MEE (R REER ) &l 3 26. 35
6. &)1 ¥ (hhrdppsc )& 1 1 25.74
7. B #A (47870 ) &3 6 27. 40
2 348 EE i3]
1. & #  (4-7ST0 ) &1 2 24 M4 REH
2.tk B (RpifEes ) 52 6 25. 57
3. &BH Bt  (Roifmes ) =1 4 25. 32 K&
4. EH & (kEEEW )‘.%3 1 23. 36 KE#H
5. kA EA (KH#EHE =3 2 24. 44
6. Ry HEFS wwﬂbbut)¢35 25. 51
1. EH K (Kpmss ) &2 1] 25. 62
No. 30 %F 50m HHE B A LR
22X
RECEk  26.63
148 EIE  BRRE
1. WTF 2 (BFEXkE ) /3 3 58. 02
2. 5% BKE O O(XYZRBIEF ) /M 6 1:00.46
3. RA F¥ (hhvdwsc )2 5 59. 99
4. 3K BWZE (v ITWKH ) /M 1 52.09
5 BR F#  (MabEBLiz) 3 2 53.29
6. =% g (XYZRRF )/ 4 59. 89
1. EBINEBE  aasEL=) M 7 1:08.15
248 EE i3]
1. REHWAE (hyJWKS ) /M 6 55. 06
2. B3 EBF (MR ELT) 2 2 47.21
3. & BE  asELT=) M2 1 44. 85
4. =& EE (FSC ) N3 3 49.08
5. FEEFDA, (XYZRIFF ) /M2 4 49. 79
6. Bl EE (HirbsHLz) 2 5 50. 22
1. Ky &g (aF=Kym ) M3 56.18




No. 30 %F 50m B/ A A LR
2RX 5
IBE08%  26.63
3#H =[] B ]
1. KT M2  (SACOT ) IN3 6 47.99
2. k% /NET (hhvdrSc ) 1 43.99
3N (2 (luAJdSC )y N3 4 46.18
4. #MF%k*%ES (LAKSC ) N3 2 44. 45
5 f R &H (KHPEFFA ) /M2 3 44.56
6. ZAEMH  (LLAISC ) M5 47.33
7. /b #%T  (LASC ) M T 49. 58
448 HLE] B R
1. WARVEF  (LKXscC ) ML 6 45. 48
2. tFE EBX (Kpmiss ) 3 5 45. 47
3. % TR (XYZBRIFF ) /3 3 45.22
4 FEEHEF (aFIKH ) M1 41.62
. EFE BEFE (XYZRIFF ) /M 4 45. 44
6. %k BHR (Kpmiss ) M3 T 47.49
1. #HFEERERET (GRESC ) N3 2 44. 80
54 SIE  BERS
. ARL # (XYZBREF ) /5 5 43.52
2. 78 XHEE & (XYZBRIFF ) /2 2 41. 62
3. %P FHk  (#-7ST0 ) N3 1 41.45
4. KX $ZE  (FyITWKS ) /M 3 42.82
5. k@  #%  (#-7ST0 ) N3 T 45.74
6. ABEXRE (BFEkE ) /M 4 43.22
7. %R /MNE (XY ZRIFF ) /N3 6 43. 65
6#8 HLE] B R
1. 5H W (byTWKSH ) /2 4 39. 86
2. #T #E  (SACOT ) M43 39. 63
3. ArA 2PN (LUAXSC ) /M5 39.99
4. M EfHE (ROEFKS ) /M 2 39.28
5. BIBBER (KHamSSsS ) /b 1 38.18
6. T TR (MHUrBsHLz) b 6 41.05
1. B BF (BFEXkE ) /b T M. 77

7 %8

NoalswNd

BR
tE
=R K
A F
RT BX
EFHLBVA
BE R

=

e

8

N akkwh =

mE 2EX
@\ ZEE
®EkEARF
KB FE
HFxEBLS
TH EF
SEE HMEM

ol

NoalswnNd

mEBER
Hf FR
g ME
fhx Ik
FR WA
#K BE
BB =R

1 048

NoalswnNd

b =% Y|
Ik MU=
WFT E%
XHE FEH
Bt BR
wh =&
M hE

WvrEs Bz ) b
(AF=TKHS ) /b
(luxsc ) 1N
(lUA<JSC ) 1M
(fRES C ) N3
(BA#¥rs s ) 1N
(ES C Y

(KHEFKD ) I3
MgurEH L) /M
(hhvHPSC ) b
MgvrEH LMz ) /M
(LXsc ) I\
(IlLAJSC ) N3
(LA JSC ) NG

(KREFKD ) /M
(by7WX%H ) /M
(KHHSS ) /6
(FScC ) &2
(Rpmss ) i
(KPHSS ) /6
WtrBs Bz ) 1
(#-7ST0 ) &1
(BFEXE ) #2
Wvads B LN ) Bl
WvAEB E V=) M
(RIFFESHZE ) 52
(3+F=Xym ) #2
(ES C ) &2

ST

BeF
40. 02

39. 06

42. 66

39. 48

38.94

39. 42

C’J-h—‘O‘I\II\JmmiH:

39.24

ST

B
42.92

39. 53

38.95

35. 52

39.13

41.09

Lﬂ@w—‘l\?h\lmi*

40. 33

ST

B
38. 37

36. 90

37.25

37.68

35.19

36. 93

Cﬂw—‘ohl\?\lml*

37.32

ST

B
34. 38

35. 60

33.85

34. 89

36. 00

35. 68

C¢~.’$CJ)\I-B—‘Q‘II\DHITJlk

34. 86




No. 30 %&F 50m B/ B A LGRS

£RX45
B8k 26.63
114 ] B R 15%4 & E R
1. AEBABRE (XY ZRIFF ) /6 5 34.19 L EXREE GIF#Es ) 52 4 31. 26
2.k EHE (XYZRBIFF ) /5 6 34.42 2.fELE E (QFZKen ) H1 ] 31.48
3. A HTE (KHEFKH ) /s 1 33.09 3. B3 BE (KPEFHA ) /6 5 31.38
4 MRV &KY (RO EFKH ) /M 3 33.69 4. RTF TEEX (RESC ) Bl 2 30. 30
5. 78 XHEER (XY ZBRIFF )/ 4 34.03 b. #8 x3%E (XYZBRIF )2 3 30.99
6. RAFER s Hiz) f1 2 33. 38 6. KEE MXR (3+F3IK%» ) H3 5 31.38
1. KEHBR (FyIWKS ) M T 35.73 1. B #E (ERER ) &1 1 29.717
12# HLE] B R 164 & E B
1. Bix<5 (BFEkE ) /M6 6 33.63 1. #F%RE (LUKRSC ) #1217 30. 82
2. —EHEKR (KHpWmss ) /5 b 33.34 2. R (Kpmss ) i1 6 30. 42
3. BEHHE (FyITWKH ) /6 1 32. 68 3. BHBEARF (hhdHwsSc ) H3 2 29. 50
4 thFtHIHN (FyTWKSD ) M 2 32. 81 4 XH FE (GIF@sEs ) &1 1 29. 14
5. ERBHMTF (KHE&EFKH ) 1 4 33.12 5. KE FK 4vasHLT=) 6 3 29. 82 K&
6. Mk BH (KHpHss ) F2 3 33.03 6. BJ)I] EX (hh&HWSC ) /6 5 30. 23
1. ABTHEBE (BMFEXkE ) $2 6 33. 63 7. &M BF (D<HJISC )H3 4 30. 11
13# HE] B R 174 & IE B
1./% BT (@FIKD ) /6 6 32.95 1. EAEEE (KoEes ) &3 71 29.92
2. fERRKEHE i sLz) f1 3 31.90 2. | D (KDEFKD ) $2 6 29. 68
3. xB HRE  (MEEXE ) F1 1 30. 48 3. BRAEDH  (E{HEEN ) =2 4 28. 41
4. BH FE (FEF]kE ) 3 2 31.75 4 B —ZFE (EEER ) =3 2 28. 25
5. kM 2 (aF3IXky ) $2 4 32.35 5. 3l FE (KpEes ) &1 1 27.70
6. BEEIZDA  (MHUrBsHLNVz) F2 5 32.53 6. EM 2LE  (EHEH ) &1 38 28. 31
7. %E FEW (¥ESC ) NG T 33.28 7. K D (KHEEIE ) &3 5 28. 62
No. 31 EBF 200m &EkE R
£RX5

B E04% 2:00.90
14%# HLE] B R & E B
1. R 1B (KHmss ) &2 T 32.98 1. ( )
2. @MFHRDLE (GRESC ) 2 4 32. 11 2. ( )
3. B FIm (#-78T0 ) B2 2 31.68 3. ( )
4. %N EE  (byIWKH ) $3 1 31. 36 4. \BFRRD  (EEEH ) &3 1 2:01.04K4%
5. AL & (XYZRRF ) $2 6 32.93 5. ( )
6. m@ BB (RESC ) b2 3 31.78 6. ( )
1. NSTEZ=%  (SAGOT ) 3 5 32. 71 7. ( )




No. 32 BF 200m EAXFL— B No. 33 RF 100m BHkEF R
X5 =RX45
B504% 1:58.12 85247 1:01.29
EIE A AIE R
1. ( ) 1. ( )
2. ( ) 2. ( )
3. %k ZE  (MAEBSHLz) /b 2 2:36. I0OKE#H 3. ( )
4. ( ) 4. £F FE  (BIFFESEEKX ) K1 1 1:02.76
5. @B U APABHLME) B2 1 2:12.69 5. ( )
6. ( ) 6. ( )
7. ( ) 7. ( )




